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Mini Case 4
Credit Policy at Braam Industries
[bookmark: _GoBack]	In order to formulate which out of the four policies (including the current policy) will be the most optimal for Braam industries, an NPV analysis must be done of all four policies (Kong, et al, 2016).
Current Policy
Daily sales of Braam Industries = 
Daily sales of Braam Industries = 
Daily sales of Braam Industries = 
Average daily cost:
Average daily variable costs =  
Average daily variable costs = 
Administrative costs per day = 
Administrative costs per day = 
Average daily defaults = 
Average daily defaults = 
Interest rate = 
Interest rate =  => 0.609%
Net Present Value =   
Net Present Value = 
Option 1
Daily sales of Braam Industries = 
Daily sales of Braam Industries = 
Daily sales of Braam Industries = 
Average daily cost:
Average daily variable costs =  
Average daily variable costs = 
Administrative costs per day = 
Administrative costs per day = 
Average daily defaults = 
Average daily defaults = 
Interest rate = 
Interest rate =  => 0.657%
Net Present Value =   
Net Present Value = 
Option 2
Daily sales of Braam Industries = 
Daily sales of Braam Industries = 
Daily sales of Braam Industries = 
Average daily cost:
Average daily variable costs =  
Average daily variable costs = 
Administrative costs per day = 
Administrative costs per day = 
Average daily defaults = 
Average daily defaults = 
Interest rate = 
Interest rate =  => 0.818%
Net Present Value =   
Net Present Value = 
Option 3
Daily sales of Braam Industries = 
Daily sales of Braam Industries = 
Daily sales of Braam Industries = 
Average daily cost:
Average daily variable costs =  
Average daily variable costs = 
Administrative costs per day = 
Administrative costs per day = 
Average daily defaults = 
Average daily defaults = 
Interest rate = 
Interest rate =  => 0.785%
Net Present Value =   
Net Present Value = 
Conclusion
	After analyzing all the calculations done above and it can be summarized that the best option would be the option 1 as it has the highest NPV. There is high plausibility in the default rate and administrative cost of option being lower than option 3. There are several reasons for this, primarily, the credit period is extended in both Option 2 and Option 3 but the credit policy is relaxed in Option 3. By relaxing the credit policy in Option 3, the default rate will automatically increase (Morais, et al, 2019). This is because there will companies that are less likely to pay and also have a lower credit rating would be added into the policy. The effect of this would be carried onto the administrative costs which will be higher to manage the increased number of delinquent accounts (Prina, 2015).
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